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>>> s = "PEILIAME

>>> len(s) TR, B A TR

6

>>> s = "HEILZRME ABCDE"  #H S ESCFRF RN, #AE AT
>>> len(s)

11

% T 3 FF Unicode ZRiB i str 28522 b, Python i& 775 H 28 Y bytes, str 8 747 HAf
PLIE L encode() /7 1248 F 5 7€ B 7245 B 2w A A% a2 S Bl bytes X4, T bytes X 2 U wJ DA
W1t decode() 5 1244 45 2 g i k% MR AL BM str AR5 Hf

>>> type('Python B NMHIES"

<class 'str'>

>>> type('1lZ% "' .encode( 'gbk")) #MB R R, SR GBK Jmhddg =X
<class 'bytes'>

>>> "H[H".encode() #ERINAEFH utF8 AT 4y
b'\xe4\xb8\xad\xe5\x9b\xbd"
>>> _.decode() #IRINEH utf8 BEAT ARG
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>>> 1/3

©.3333333333333333

>>> print('{0:.3f}'.format(1/3)) #URH 3 /N

0.333

>>> '{0:%}'.format(3.5) #i% A E 8

'350.000000%"

>>>  print("The number {0:,} in hex is: {@:#x}, in oct is
{0:#0}".format(55))

The number 55 in hex is: ©x37, in oct is Q067

>>> print("The number {@:,} in hex is: {@:x}, the number {1} in oct is
{1:0}".format (5555, 55))

The number 5,555 in hex is: 15b3, the number 55 in oct is 67

>>> print("The number {1} in hex is: {1:#x}, the number {0} in oct is
{0:#0}".format (5555, 55))

The number 55 in hex is: ©x37, the number 5555 in oct is 0012663

>>> print("my name is {name}, my age 1is {age}, and my QQ is
{qq}" .format(name = "Dong", qq = "306467355", age = 38))

my name is Dong, my age is 38, and my QQ is 306467355

>>> position = (5, 8, 13)

>>> print("X:{0[0]};Y:{0[1]};Z:{0[2]}".format(position))

X:5;Y:8;Z:13

>>> '{0:_},{0:_x}'.format(1000000) #Python 3.6.0 M H mfRA S RE
'1_000_000,f 4240"
>>> '{0:_},{0:_x}'.format(10000000) #Python 3.6.0 M H mfRA S RE

'10_000_000,98_9680"
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7.5.1 find()~ rfind(). index()~ rindex(). count()

>>> s="apple,peach,banana,peach,pear”
>>> s.find("peach") IR BB — O I A B




6

>>> s.find("peach", 7) # IR E AL BT IR L
19

>>> s.find("peach", 7, 20) #IETE E VO AT A
-1

>>> s.rfind('p") # T RS 1A B A4
25

>>> s.index('p") IR 5] R AT

1

>>> s.index('pe')

6

>>> s.index('pear")

25

>>> s.index('ppp"') #15 7E 1T 245 B A AFAER G 7
ValueError: substring not found

>>> s.count('p") HRUT T IR
5

7.5.2 split()~ rsplit(). partition(). rpartition()

>>> s = "apple,peach,banana,pear"

>>> s, spllt(" " #48 FHE S AT bR
["apple", "peach", "banana", "pear"]

>>> s = "2014-10-31"

>>> t = s.split("-") #48 F 48 € FARHE N BB AT
>>> t

['2014", '10', '31']

>>> list(map(int, t)) #4453 B &h SR R

[2014, 10, 31]

>>> s = '\n\nhello\t\t world \n\n\n My name\t is Dong '
>>> s.split()

["hello', 'world', 'My', 'name', 'is', 'Dong']

>>> 'a\t\t\tbb\t\tccc'.split('\t") #&EHIRFTEWLAE NPT 17 FaFF
['a" IIJ II) Ibbl) Il) ICCC']

>>> 'a\t\t\tbb\t\tccc'.split() HEB:Z N HIRFTPAE N — AT BRFF
["a', 'bb', 'ccc']

>>> 'a,,,bb,,ccc'.split(',") #5FN I 5 AP R BRAL 1 53 B T
['a" IIJ II) Ibbl) Il) ICCC']

>>> s = "apple,peach,banana,pear"

>>> s.partition(',") # M AE FHE S 1247 V1
('apple', ',', 'peach,banana,pear')

>>> s.rpartition(',") # WA FHE S 34T 01 o

('apple,peach,banana‘', ',"', 'pear')

7.5.3 join()

>>> 1i = ["apple”, "peach", "banana", "pear"]

>>> ","sep.join(1i) #18 FHE S N IERAT
"apple,peach,banana, pear"

>>> ':'.join(1i) #HE e NS
'apple:peach:banana:pear’

>>> ''.join(1li) #40 F  E R E N IE AT

'applepeachbananapear’




7.5.4 lower(). upper(). capitalize(). title()» swapcase()

>>> s = "What is Your Name?"

>>> s.lower() #3R A /NG A5 HR

'what is your name?'’

>>> s.upper() #I B K5 AT

'"WHAT IS YOUR NAME?'

>>> s.capitalize() N S NG
'"What is your name?'’

>>> s.title() #A A F RS
'"What Is Your Name?'

>>> s.swapcase() #RX/NE AR

'wHAT IS yOUR nAME?'

7.5.5 replace(). maketrans(). translate()

>>> s = "Python & — [ JAEHM B mEES"

>>> s.replace('ZmfE', 'FEFEIH") #W NSRS B AR AR
"Python & — AR FHHIRF BTG S

>>> print('abcdabc'.replace('abc', 'ABC'))

ABCdABC

#EVEILS R, K abcdef123" —— X ML o " uvwxy z@#$ "
>>> table = ''.maketrans('abcdef123', 'uvwxyz@#$')

>>> s = 'Beautiful is better than ugly.'

HZ LS R BEAT e

>>> s.translate(table)

'Byuutizul is vyttyr thun ugly.'

7.5.6 strip()~ rstrip()~ Istrip()

>>> '\n\nhello world \n\n'.strip() HIBE P ) 2 3 AT
'hello world'

>>> "aaaassddf".strip("a") M B P O ) Fi8 2 1
"ssddf"

>>> "aaaassddfaaa".rstrip("a") #5555 5 A AR 8 2457
'aaaassddf’

>>> "aaaassddfaaa".lstrip("a") HIH 5 75 5B 2 4R 8 4T
'ssddfaaa’

7.5.7 startswith(). endswith()

>>> s = 'Beautiful is better than ugly.'

>>> s.startswith('Be") #F MBS P4 e

True

>>> s.startswith('Be', 5) #48 AN VL AR B
False

>>> s.startswith('Be', 0, 5) #H8 R VE R G A S5 R AL B
True

>>> import os
>>> [filename

for filename in os.listdir(r'D:\\")
if filename.endswith(('.bmp', '.jpg', '.gif'))]




7.5.8 isalnum(). isalpha(). isdigit(). isspace(). isupper()~ islower()

>>> '1234abcd’ .isaln
True

>>> "\t\n\r '.isspac
True

>>> 'aBC'.isupper()
False

>>> '1234abcd’ .isalp
False

>>> '1234abcd’.isdigit()
False

>>> '1234.0'.isdigit
False

>>> '1234'.isdigit()
True

7.5.9 center()- ljust(). rjust()

um()

e() #MAE B2 B4
#AE T AHUONRE 78

ha() #AHR N PE BN AR [B] True

#4E N BT IR [B] True
0O #ANEEMATF AL

# AT 2L

>>> 'Main Menu'.center(20) #IEHFE, PIER A DL AT H A
' Main Menu '
>>> 'Main Menu'.center(20, '-') #E XS, I DAY S AT 7

>>> 'Main Menu'.ljus

t(20, '#')

'"Main Menu#iHH#iitits'

>>> 'Main Menu'.rjus

7.5.10 FRF B X RFHIBERF

t(2e, '=")

___________ Main Menu'

# A — T4

#/0X855, AL 54T IR T
#AXF55, A MBLAE 54T IR T

RS T 5 — T4

#RHE T in ST AT AR — DB Ay

>>> '"Hello ' + 'World!'
'Hello World!'

>>> ‘abcd' * 3
'abcdabcdabced

>>> "a" in "abcde"
True

>>> 'ac' in 'abcde’
False

7.5.11 EHTFRERANERE

>>> X = 'Hello world.'

>>> len(x) #FPF KR

12

>>> max(x) # KIS

W

>>> min(x) #i /N

>>> list(zip(x,x)) #zip () AT DMER T 755

[CH, H), (', te'), (10, "1, (1, L), (Yo', To'),
:)A:)]('W'J IW')J ('Ol) lol)J (Ir\l.’ 'r")-’ (llIJ '1l)) ('d'J ldl).’ ("

>>> sorted(x)

#X P AT HER, IR 18R

]
J
1

)




[l |’ I.', |H|J Id.J |e|J lll) lll, lll) IOI, IOI, lr‘l’ IWI]

>>> ''.join(reversed(x)) #RN 1 AR
'.dlrow olleH'
>>> list(enumerate(x)) HA 2 F HR

[(6, 'H"), (1, 'e"), (2, '1"), (3, '1"), (4, 'o"), (5, "), (6,
‘w'), (7, 'o'), (8, 'r'), (9, '1"), (1@, 'd"), (11, '.")]
7.5.12 FFEYH
>>> 'Explicit is better than implicit.'[:8]
"Explicit’
>>> 'Explicit is better than implicit.'[9:23]
'is better than'
>>> path = 'C:\\Python35\\test.bmp'
>>> path[:-4] + '_new' + path[-4:]
'C:\\Python35\\test_new.bmp"
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Bl 7-5 fE ] string BEBER AL 74T 5 % &, B T € KR IREN LAY .

from random import choice
from string import ascii_letters, digits

characters = digits + ascii_letters

def generatePassword(n):

return ''.join((choice(characters) for _ in range(n)))

print(generatePassword(8))
print(generatePassword(15))

Y& JE jieba Fl snownlp A LAEAT HH9E L 551A]

>>> import jieba #F A jieba itk

>>> x = "oriE IER E B TS AR R BRI SR B R
>>> jieba.cut(x) #43 FH BR A 1R FEEAT 2317
<generator object Tokenizer.cut at ©x000000000342C990>

>>> list( )

[Py, "W, CHEEREEY, "HE®EE, ‘mr, 7', ES', A4, A,
AR, CEEN, UMY, TR, RR', ' ]

>>> list(jieba.cut('fE4EH "))

['e", "4U]

>>> jieba.add _word (' fE4%H ") #Ih0A 2%

>>> list(jieba.cut('fE4EHF"))
[ FEAUH " ]

>>> import snownlp

Al P 7 1

#5 N snownlp FEER

>>> snownlp.SnowNLP (' 221 312, ATREF") .words
[l%ﬁﬁlj IHﬂ»}jl, |‘Z|, |, |, lz:ﬂj:'_, I_LE‘E%ZI]

>>> snownlp.SnowNLP(x).words
[léj\_‘tﬁjuj

e, Rk, h, TRES,

R, CHEmREZT, T EAR

s RO, T, VJRSE, SORT, kbR, AT,

R, ]




Python " & & pypinyin SCRFX 7 2B (8, I H AT U377 F e il & 4 H

>>> from pypinyin import lazy_pinyin, pinyin

>>> lazy pinyin('#AHE") #R A Pf

["dong', 'fu', 'guo']

>>> lazy pinyin('ZEAEH", 1) #ir A P

['dong', 'fu', 'gué’]

>>> lazy pinyin('ZEATE", 2) A 3R A T BRI S R
["do3ng', 'fu4', 'guo2']

>>> lazy pinyin('#AfTE", 3) # R B B

['d', 'f', "g']

>>> lazy pinyin('EZE', 1) HRERE AR A B IR A 2 5 T

[*zhong', 'yao']

>>> lazy pinyin('#EPH', 1)

['chong', 'yang']

>>> pinyin('HEFH") #ik PP &
[['chong'], ['yang']]

# = R

Bl 7-6 'S PR AL AT I AR, RS AR R A, R AT ) S R

def crypt(source, key):
from itertools import cycle
func = lambda x, y: chr(ord(x)”ord(y))
return ''.join(map(func, source, cycle(key)))

source = 'Beautiful is better than ugly.'
key = 'Python'

print('Before Encrypted:'+source)
encrypted = crypt(source, key)
print('After Encrypted:'+encrypted)
decrypted = crypt(encrypted, key)
print('After Decrypted:'+decrypted)

Bl 7-7 WEREF, Guit—BOCT RN L R

from collections import Counter
from jieba import cut

def frequency(text):
return Counter(cut(text))

text = "' \EFREFICE, JH\EE M
PR tanb S, S An AR Rt
print(frequency(text))

B 7-8 Ao A W B A R (Y 2 AR

import string




def check(pwd):
HET L AU DL 6 AP
if not isinstance(pwd, str) or len(pwd)<6:
return 'not suitable for password’

LT 3 R R IR Y LN PV R

d = {1:'weak', 2:'below middle', 3:'above middle', 4:'strong'}
R RIRIC pwd R G HMT . NSTE KRG F RIS
r = [False] * 4

for ch in pwd:
#He TS
if not r[@] and ch in string.digits:
r[@] = True
T AN
elif not r[1] and ch in string.ascii_lowercase:
r[(1] = True
#He U KNG i
elif not r[2] and ch in string.ascii_uppercase:
r[2] = True
#HE M EETE IR RS
elif not r[3] and ch in ',.!;?<>":
r[3] = True
#GH S AR, R (6 5

return d.get(r.count(True), 'error')

print(check('a2Cd, "))
print(check('1234567890"))
print(check('abcdERG]"))
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